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S - MEFARE AR T L B R L F I FREETR S 600 kPa -
BR 320&@»/*@&5%% 100 kPa~ ;¥ & 300 K+ g 4 523 & 4 20 KW
2k gt REF e Ring o (BE Y #F R ¢ = 1.005 kikg-K)
(25 A )
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THEN- BHEFRBF2 RS L 600kPa~ F B 5 500 Ko R iR %

Wz B4 L 120 kPa~if & 5 350 K ik vt # B 20 ¢p = 1.016 kI/kg-K

R =0.287 kJ/kg-K -
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OF ¥ FER m)i:,a 300 K» Fptiedtsz % = T E»cF (Second-law
efficiency ) - (15 » )

o~ AEIZEH T A EER (ideal Brayton cycle) -
O m HHEAR-F (T-s) Bk SE > TP LA2A - (10 4)
(—)«'1 % (T-s) B P v # (regeneration) 4o 3% 2 H #sck o
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